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Question Number : 1 Question Id : 27911790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following was used during First Generation of computers?

Options:

1 « Vacuum Tubes

- % Transistors

= % Mechanical Gears

4 % Microprocessor

Question Number : 1 Question Id : 27911790 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 27911791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In which of the following methods special pre-printed forms are designed with Boxes that can be marked with a Dark
Pencil or Ink?

Options:

; % OCR
5 % MICR
= « OMR

, » Bar Coding

Question Number : 2 Question Id : 27911791 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 3 Question Id : 27911792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For faster processing, which of the following is used as an intermediate buffer between Main Memory and the
Processor?

Options:

| % Secondary Storage

> % Flash Memory
5  Cache Memory

4 % Virtual Memory

Question Number : 3 Question Id : 27911792 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 27911793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the correct expansion of the term VLSI?

Options:
, = very Large System Integrator

5 #® Very Large Storage Infegration
5 % Very Large Scale Internet

4 w Very Large Scale Integration

Question Number : 4 Question Id : 27911793 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 5 Question Id : 27911794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

DVD is short form for:
Options:

1 Digital Versatile Disc

-~ % Digital Volatile Disc

- % Digital Visible Disc
4 = Digital Valid Disc

Question Number : 5 Question Id : 27911794 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 6 Question Id : 27911795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AnImpact Printer prints characters by using one of the following;:

Options:
; w AnlInk Spray

- u Electrically Charged Ink

o

= % An Ink Pen
4 + An Inked Ribbon and Print Head

Question Number : 6 Question Id : 27911795 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 7 Question Id : 27911796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ASCII stands for:

Options:
, w Asian Standard Code for Information Interchange

- « American Standard Code for Information Interchange

5 » American Standard Configuration for Information Interchange

, w Asian Standard Configuration for Information Interchange

Question Number : 7 Question Id : 27911796 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 27911797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A Magnetic Tape is a:

Options:

1 # Random Access Medium
> % Parallel Access Medium
= « Serial Access Medium

4 % Synchronized Access Medium

Question Number : 8 Question Id : 27911797 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 27911798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Upon switching off the power. the type of memory that readily loses data is classified as:
Options:
| « Vvolatile Memory

> % Impact Storage

5 # Non-Volatile Memory

4 8 Non-Impact Storage

Question Number : 9 Question Id : 27911798 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 27911799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following streams or feeds images on the internet in real tune?

Options:

, w Photo Copy Machine
> « Webcam

2 ® DSLR

4, % Graphics Card

Question Number : 10 Question Id : 27911799 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 11 Question Id : 279117100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a Desktop Operating System?

Options:
1 ® Windows Vista

> #% Redhat Linux

5 = Apple Macintosh

4  Google Android

Question Number : 11 Question Id : 279117100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 279117101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In computers and digital technology a Nibble is:

Options:
1 % One Bit

Eight Bits

S

wu

)
Two Bits

S

2
4 « Four Bits

Question Number : 12 Question Id : 279117101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 279117102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A program written in any high-level language is known as:

Options:
, » ByteCode
> « Source Code

5 » larget Code

4 % Machine Code

Question Number : 13 Question Id : 279117102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 14 Question Id : 279117103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One Terabyte (1 TB) is equal to how many Gigabytes (GB)?

Options:
;% 1000

> % 256
3 % 512
4 1024

Question Number : 14 Question Id : 279117103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 15 Question Id : 279117104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides basic services to all parts of the operating system?

Options:
, = Interpreter

> « Kemel
3 % Shell
4 % Linker

Question Number : 15 Question Id : 279117104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 279117105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The concept of “Paging™ is implemented by:

Options:
1 % Hardware

> % Embedded Software
- % Firmware
4 v Operating System

Question Number : 16 Question Id : 279117105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 279117106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is False about a *“*Computer Firewall”?
Options:
, w Firewall prevents unauthorized access to computer data

- % Firewall can be implemented as Software
- » Firewall can be implemented as Hardware

4  Firewallis a Virus Program

Question Number : 17 Question Id : 279117106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 279117107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
“Retina Scan” is a part of;

Options:
1 « Biometrics

-~ » Biodegradation
- » Biology
4 # Biogas

Question Number : 18 Question Id : 279117107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 19 Question Id : 279117108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A mathematical way for demonstrating the authenticity of a digital message or documents is known as:

Options:
1 % Internet Protocol
> # Remote Procedure Call

-  Digital Signature

4 % Masquerading

Question Number : 19 Question Id : 279117108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 279117109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A criminal activity done by using computers and internet is generally classified as:
Options:

, w Social Networking

o  Cybercrime

- » Blogging

4 ® Spamming

Question Number : 20 Question Id : 279117109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 21 Question Id : 279117110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

“ BMP" is an extension to which type of files?
Options:

1 # Audio Files

o  lmage Files
z # Video Files
4 % Binary Files

Question Number : 21 Question Id : 279117110 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 22 Question Id : 279117111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following options is NOT a Memory Management Technique?

Options:
, % Swapping

-~ % Segmentation
-  Blocking

4 » Paging

Question Number : 22 Question Id : 279117111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 279117112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In Windows OS terminologies NTFS refers to:
Options:
, w Nested Technology File System

- » Numeric Technology File System
- » Net Technology File System

4 « New Technology File System

Question Number : 23 Question Id : 279117112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

e .oy, et # tadTHrH R TefiT Fear &7

Options:

|« RS THAGET wEa BEA
L« TIANE SHereis HEe freHA
. x T CHANST B A

, o TI ShereisT BEe Eed

Question Number : 24 Question Id : 279117113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The extension “.PDF"” is a short form for;
Options:

1 # Printable Document Format

> « Portable Document Format

5 % Privileged Document Format

4 % Portable Data File

Question Number : 24 Question Id : 279117113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 279117114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In broadband communications technology. the term ADSL stands for:

Options:
, % Assorted Digital Subscriber Line

-~ » Astute Digital Subscriber Line
5  Asymmetric Digital Subscriber Line

, » Arial Digital Subscriber Line

Question Number : 25 Question Id : 279117114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 26 Question Id : 279117115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To check the availabilitv of a computer tenninal on & network, which of the following comnands is vsed from another
terminal in the same network?
Options:

1 % cmd
o x TDE

- % ipconfig

4  PIDB

Question Number : 26 Question Id : 279117115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 % cmd

5 % rnng

- % Ipconfig

4 v Ping

Question Number : 27 Question Id : 279117116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

When a compmiter 15 Sttt Dowa, the Calendar amd the Clock m the operating systemn continue o work because of one of
the follovwing!

Options:

, w Uninterrupted Power Supply (UPS)

>  An On Board Battery Supply
5 » Switched-Mode Power Supply (SMPS)
4 » Read Only Memory (ROM)

Question Number : 27 Question Id : 279117116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 28 Question Id : 279117117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ink Jet Printers are classified under the category of:

Options:
1 « Line Printers

> # Character Printer
= % Word Prinfer

4 % Band Printer



Question Number : 28 Question Id : 279117117 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 29 Question Id : 279117118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The process of locating non-contiguous data files and rearranging them for faster data access is known as:

Options:
, % Partitioning

» » Formatting
-  Defragmentation

4, % Drive Ghosting

Question Number : 29 Question Id : 279117118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 30 Question Id : 279117119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Windows operating system which keyboard shortcut deletes the file or folder permanently?

Options:

1 % Cl+X
> % Shift + F7
z # Alt+F4

4 « Shift + Del



Question Number : 30 Question Id : 279117119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % Ctrl + X

- % Shift + F7

2 % Alt + F4

4 + Shift + Del

Question Number : 31 Question Id : 279117120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the Unit of Measurement for a Dot Matrix Printer?

Options:
1 % Lines Per Second
> « Characters Per Second

%z % Dots Per Second

4 # Characters Per Inch

Question Number : 31 Question Id : 279117120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 32 Question Id : 279117121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which of the following options saves open documents and running applications to Hard Disk and shuts down a
computer to consume zero power?
Options:

, » LogOff

> % Sleep
% « Hibernate

4 # Lock Screen



Question Number : 32 Question Id : 279117121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 279117122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The length of an IPv6 Address is:

Options:
16 Bits

32 Bits
64 Bits

4 « 128 Bits

®
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&
e

®

Question Number : 33 Question Id : 279117122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 34 Question Id : 279117123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

In Windows OS which of the following options cannotbe set through the “Region
and Language” settings?

Options:

| % Currency

- o Font
- % Location

4 % Date and Time Formats



Question Number : 34 Question Id : 279117123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 35 Question Id : 279117124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Excel. which function displays row data in a column or column data in a row?

Options:
. % Trend()
- o Transpose()

5 % Irim()

4 % Trunc()

Question Number : 35 Question Id : 279117124 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Trend()

-  lranspose()

= % 1rim()

4 % Trunc()

Question Number : 36 Question Id : 279117125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT a logical function?

Options:
1 ® DR{)

. « AND()
5 » NOT(



, « CODEQ

Question Number : 36 Question Id : 279117125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

; = OR()
.« AND()
. » NOT()
, » CODE()

Question Number : 37 Question Id : 279117126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following functions should be used when the comparison values are located in a row across the top of a
table of data?

Options:
1" HLOOKUP()

, » VLOOKUP()
5 » Find and Replace

4 % Filter

Question Number : 37 Question Id : 279117126 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. » HLOOKUP()
, x VLOOKUPY()

- :ﬁ 3T sger (Find and Replace)
4 % Thoel

Question Number : 38 Question Id : 279117127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS Excel. calling one function within another is known as:

Options:
1 # Bound Function

- % Associated Function



z « Nested Function
4 # Linked Function

Question Number : 38 Question Id : 279117127 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
THUH Tl H, Teh el H GHL B 1 3TART il FHgolld g

Options:

| % T35 el

> ® THITATEE Faed
3 AT B

4 ® ez v

Question Number : 39 Question Id : 279117128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following functions of MS Excel would return the “Remainder of a Division™?

Options:
, % MRound()

>  Mod()
- u Median()

4 % Match()

Question Number : 39 Question Id : 279117128 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TAUH TF8d & Araiaad GFEr § § Fid 7 “UF FF F7 A9 9T FaT 27
Options:

, = MRound()
- « Mod()

- » Median()
4 % Match()

Question Number : 40 Question Id : 279117129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The term “CAPTCHA™ used in the internet technology is a short for:
Options:

; % Completely Automated Public Terminal test to tell Computers and Humans Apart

> % Completely Automated Private Terminal test to tell Computers and Humans Apart



-  Completely Automated Public Turing test to tell Computers and Humans Apart

4, » Completely Automated Private Turing test to tell Computers and Humans Apart

Question Number : 40 Question Id : 279117129 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ol “FTr (CAPTCHA) Sttae Sizaiffdr & o9 7 frawr Bv === & =19 a9 U ol 959
a7

Options:

| FEoRNCEl HIETALE Tfeorh THAN T T TH FLH U TIAH IC
, u PECCNCE HEHES FIT HAT ST T T FYLH TS FHFHCH HAIC
. o P HRIAE qfeeE TRET 3R T I FH U EEeT A
4 % FEAICHl ACTHCE TFac TR & T & Ho4eH US ggH=d HIC

Oy o

Question Number : 41 Question Id : 279117130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

A conference between two or more participants at different locations using computer network to fransmit audio and
video data 15 known as:

Options:
| % Wi-Fi

> % Ethernet Audio/Video Bridging

5 # Vvideo Encoding
4  Video Conferencing

Question Number : 41 Question Id : 279117130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FUET e N FEN T e = W T a ¥ H#UE ot F 99 vw I & s
i drfaT = gl = o ohear & e v F s = i

Options:

. % Wi-Fi
, » S AT/ SifzEr [/
5 % SEAT TASIET
4 v A FTSHFT

Question Number : 42 Question Id : 279117131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A computer on the internetis identified by its:

Options:



1 % Serial Number
> % MAC Number
= % Email Address
4 « IP Address

Question Number : 42 Question Id : 279117131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SHAT W U FoU HI Tga fohdeh gaRT $T FAcr g2

Options:

| & A

.« &% wEm
4 3ﬂ1é»'°ﬁ' @-‘q‘

Question Number : 43 Question Id : 279117132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In MS5-Word, which of the following options suggests the other words with similar meaning to the word you have
selected?

Options:

, % Meaning

5 % Language

=z % Research

4 + Thesaurus

Question Number : 43 Question Id : 279117132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

vATE T5 H, Frataias BEed § 0 #9 ' AF 2230 g9 T oee & I wEe w9 & gmy e
FEATSE FIAT £7

Options:

% HY

o % ANl

T R 2

. v TIHEITH (Thesaurus)

Question Number : 44 Question Id : 279117133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MS-Word “Macros™ are written in which programming language?



Options:

1 « Visual Basic
o % C

z % Crr

4 % Java

Question Number : 44 Question Id : 279117133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TATH J2 “Hersr Hid O SEnfHEeT o mwr J fomr JEr 82

Options:

ll_ﬁfﬁgmﬁm
> % C
3 8 CH+
4 ® SAET

Question Number : 45 Question Id : 279117134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In MS-Word. Alt+= comunand is used for inserting a:

Options:
, = PageBreak

> % Symbol
-  Mathematical Equation

4 % Shape

Question Number : 45 Question Id : 279117134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TATH d5 A, Alt + = FHE & FIAT FT Fias o & Tow &Far e 82
Options:

1 ® q?—ﬁ?
- B m
5 O FHERIOT

, % FPI

Question Number : 46 Question Id : 279117135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Excel functions returns a Maximum of Value from a collection?

Options:



1 ® Mod
> % Mid
=z « Max
4 ® Min

Question Number : 46 Question Id : 279117135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

aRT oo vET § ¥ Si9 O UF T8 # § A haq A9 919 FaT 27
Options:

1 ® Meod
. % Mid

= « Max

4 ® Min

Question Number : 47 Question Id : 279117136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following will hold row and coliann titles i place so that they do not scroll while scrolling the worksheet?
Options:

| % Margins

> % Rulers
5 % PageBreak Preview

4 « Freeze Panes

Question Number : 47 Question Id : 279117136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TG § O #i7 91 9F9 37 399 oS #7799 WA £ e ¥ 3T =9 =y 599 =
&7

Options:

| % AT
> ® ol

_, O &% e

Question Number : 48 Question Id : 279117137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following would result in an absolute whole number 577

Options:
L % =ROUND(56.743537.6)



5 % =ROUND(56.743537.3)

- » —ROUND(56.743537.1)
, « —ROUND(56.743537,0)

Question Number : 48 Question Id : 279117137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

f=fof@a & o frger aftome v Rder 9o ®&=m 57 gem?

Options:

, » —~ROUND(56.743537,6)
, » —ROUND(56.743537,3)
- » —ROUND(56.743537,1)
4 v —~ROUND(56.743537,0)

Question Number : 49 Question Id : 279117138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcuts hides the entire column?

Options:
; % CTRL+2

5 « CTRL +0
s % CTRL +1
4 % CTRL+9

Question Number : 49 Question Id : 279117138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frafaf@a & @ #ia @1 oaidee W TT F I & g2
Options:

, % CTRL + 2
» « CTRL + 0
5 # CTRL + 1
. # CTRL + 9

Question Number : 50 Question Id : 279117139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following functions would return Current System Date and Time?

Options:

, = Date()

o B Tﬂdﬂ}'ﬂ



5 o NOW()

4 % Time()

Question Number : 50 Question Id : 279117139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ol & ¥ #iF a7 v @ &1 3973 e 3 9857 99 Far 82

Options:
» Date()

1
. % loday()

5 « Now()

4 % Time()

Question Number : 51 Question Id : 279117140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The process of verifying Login Name and Password to gain access to an Email Account is known as:
Options:

, w Configuration

> % Identification
= « Authentication

4 % Authorization

Question Number : 51 Question Id : 279117140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

TE THE WA H T 9 F=e F AT AE 1 AT ornes & mes w1 ofe S e =
AT 87

Options:

1_&1%!?&1'&[
> % dedlsl
5« FHATOIERIOT
4_$¢QTE]WUT

Question Number : 52 Question Id : 279117141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet Exploreris a:

Options:
1 « Browser

5 % Interpreter



5 # Wword Processing

4 % Multimedia

Question Number : 52 Question Id : 279117141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

SeTAC TFESART 4T &

Options:
1.« 33T

z.ﬁzﬁr&m

4 % FeCrHTSIT
READING COMPEEHEMNSIOM
Section Id : 27911720
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 1
Number of Questions to be attempted: 1
Section Marks: 5
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911720
Question Shuffling Allowed : Yes

Question Id : 279117142 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Read the following passage and answer the questions given after it.

Grandfather had served for many yvears in the Indian Forest Service and so it was
natural that he should know and understand and love trees. On his retirement he had
a bungalow built on the outskirts of Dehra and he planted trees all around it — limes,
oranges. mangoes, guavas, also eucalyptus and jacaranda. Dehra lies in a valley at
the foothills of Himalayas. a fertile valley where plants and trees grow tall and
strong.

However, Grandfather was not content with planting trees in our garden. On rainy
day we would walk into a jungle beyond the river bed, with cuttings and saplings.
and we would wander slowly through the forest planting shrubs between the ‘sal’

and ‘shisham’ trees.

“But no one comes here,” I protested the first time. “Who is going to see them?”

“We arenot planting them for people only,.” said Grandfather. “We are planting
them for the forest, and for the birds and animals that live here and need more food
and shelter.”

He told me how men, and not only birds and animals, need trees, for keeping the
desert away. for attracting rain. and for preventing the banks of rivers from being

washed away.

“And for timber?” 1 asked.

“Yes, and for timber also. But men are cutting trees. For every tree thatis cut down,
we must plant two. Otherwise there will be no forest at all one day, and the world
will become one great desert.”

One November Grandfather tookme to the hills. The ‘deodars’. oaks and chestnuts
were very different from the trees at Dehra. The leaves of chestnuts had turned
vellow. Chestnuts lay scattered on the road. Grandfather andlI filled our pockets with
them, then we climbed a bare hill and started planting the chestnuts in the ground. I

don’tknow ifthey ever came up because I never went to that hill stationagain.
Goats and cattle grazed freely on the hill, and if the chestnuts did come up in the
spring thatmay well havebeen eaten. ButI like to think that somewhere in the hills
thereis a grove of chestnut trees. and the birds and flying foxes have made their
homes in it.

Sub questions

Question Number : 53 Question Id : 279117143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Grandfather planted many trees in his garden because he:
Options:

1 % had served in the Indian forest service.



- % had bought his own bungalow.

3 « understood and loved trees.

, % had a fertile land in his bungalow.

Question Number : 54 Question Id : 279117144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Grandfather planted more trees in the forest mainly for the sake of:
Options:

, » Dbeople

> % birds
- % animals

4 « forest itself

Question Number : 55 Question Id : 279117145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What will happen if there are no forests left?
a. There will be less rain.

b. The river banks will be washed away.

c. The world will become a desert.

Of the above mentioned results of forest cutting which are true?
Options:
1 % aand b are true.
> # aand c are true.
%z % b and c are true.

4 « 2 bandcare true.

Question Number : 56 Question Id : 279117146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following trees is mainly found on hills?
Options:

, w Eucalyptus

> « Deodar
3 % Sal
4 % Shisham

Question Number : 57 Question Id : 279117147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the author like to think about the chestnuts he planted on a hillside?



Options:
, w» They would have been washed away by rain.

> % They would have been eaten by goats.
5  There would be a grove of chestnut trees on the hill.

4 # Theleaves of chestnuts would turn yellow.

Question Id : 279117142 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH
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Sub questions

Question Number : 53 Question Id : 279117143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
gIETET & ¥Ue SO0 H FT UT oENT o, FAF
Options:

. % 3eRd AR I FaT H Atwdr Hr o

. % 3Je@lel YT ST THIET o

. v I 931 F FEEA ¥ 3R 398 WX a9 o
3k STl H 39S A o

4 %

Question Number : 54 Question Id : 279117144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g 7 AET ¥ ¥ fhes T Sl 7 fEe ¥ e 9% e
Options:
1_$ém1ﬁ
gﬁqm
-EIE: ]
o ® B
4 ST

Question Number : 55 Question Id : 279117145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FIT EFT I TE W UF o IS 7 T2
A. TET 9T JUT FH 2|

b. AET & AR §g FATIe

c. e v T 99 SR
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Options:

. % a 3R b T &
, » a HR c ér I
. » b 3R c T &I
. v @ b 3R c WEr &

Question Number : 56 Question Id : 279117146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

e 32t F @ &9 ¥ 780 &7 & T W 9 A 82
Options:

1. EfEiiEii

=z B Hlel

4 #® ﬁ?m

Question Number : 57 Question Id : 279117147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

UETE I W AE@F IR 1 T WSS F gR H Ig FIAT =T TEAT 272
Options:
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4.

CUANTITATIVE APTITULE
Section Id : 27911721
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questions to be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911721
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 279117148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Find the difference between the largest and the smallest fractions among the
2 7 6 2 4
e e and —?
5 R 11
Options:
ﬁ

1.9 77
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Question Number : 58 Question Id : 279117148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

22,2, 2 dn - O F @ T o AN wER ol e & A He W AR
Options:
E

1 w3

Question Number : 59 Question Id : 279117149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The sum of two numbers is 36 and their difference is 20. Find their product?

Options:

1 & 224
> % 160
= % 192
4 % 208

Question Number : 59 Question Id : 279117149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ar TEATHT FT TRT 36 § TAT oAl HaT 20 | 3oAeH IUTAbe AT HITAT?

Options:

, @ 224
. % 160
2 % 192
. % 208

Question Number : 60 Question Id : 279117150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Four-seventh of a number is equal to 40% of another munber. What i= the ratio between the first momber and the second
munber, respectively?

Options:
1 % 5:4

&2
3057

W
® =

4 ¢ 7:10

Question Number : 60 Question Id : 279117150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
UF HEAT = 4/7E S ZED WEAT F 40% F uET §) vEer Few ¥ gul mem # Hma g
Options:

1 = 94
> % 4:5
sz % 10:7
7:10

%

4.

Question Number : 61 Question Id : 279117151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pipe A can £l tank i 5 hours, and pipe B can fill it in @ howrs, A third pipe, pipe C. can completely emply the tank in 7
howrs, I all three pipes are apened simultameonsly. then in what time will the (ank get Olled?

Options:

5
3— hours
47

Question Number : 61 Question Id : 279117151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT A T &F Fr 5 U H 97 FFar £, HT 957 B IO &F FT 6 U H &T HFHAT §1 U STET 959,
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Options:

N i
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1

22
2.#453%
22
- SEE%.'
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Question Number : 62 Question Id : 279117152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I what ratio bwe different varieties of sugar costing Rs. 29%g and Rs, 32/kg be mixed 50 that the resultant combination
of sugar costs Ry, 317kg?

Options:

1 % 3:4
% 133
=0 2l
4+ 1:2

Question Number : 62 Question Id : 279117152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A=A Fr 21 HE-HEE T, See qE e 29 wafen AT 32 s B F R dEe A
FHemar FeT =IfET A1 9oTHEEERT 9es == S R S fe 31 wedfEer & arae

Options:

1% 3:4
= 1 53
= %221
gl T 12

Question Number : 63 Question Id : 279117153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the area of the circle inscribed in a rectangle having area 224 cm* and one side 16 cm long?
Options:

%
1 ®% 96cm-
o
5 o 134 cm”
|
z % 108cm”

e
4 % 84cm-

Question Number : 63 Question Id : 279117153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
wmﬁﬁmmﬂmzﬂﬁﬂﬁaﬂ:wgﬁaﬁrMMQﬂrﬁ,#ﬁaﬁﬁaﬁwqﬁmaﬁm
AT #T=T

Options:

. v 154 TH2
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GEMERAL MENTAL ABILITY AND REASONING

Section Id : 27911722

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 27911722
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 279117154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In the following questions, there 15 a certain relationship between two words on one side of ;: and one word 13 given on

another side of ;2 while another word 15 to e frnmd fom the given altematives, having the same relation with this word
a5 the worls of the siven pair bear .Choose the cormect aliemative.

Aeroplane | Coclpdt & Train : 2

Options:

| % Wagon

> % Coach

5 % Compartment

4  Engine

Question Number : 64 Question Id : 279117154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 279117155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In the following question. there is some relationship between the two terms to the left of :; and the same relationship
holds between the two terms 1o ifs right. Alse, in each question. ofe term either to the right of 1@ or fo the left of 17 15
missme. This term 15 given as one of the altematives given below each guestion. Find ot this termn.

acE : bdF ::th] :?
Options:

1.¢
- # K
3 % dfH
48 Tl

iK

=)

Question Number : 65 Question Id : 279117155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Kunal walks 10 kilometers towards North. From there. he walks 6 kilometers towards South. Then. he walks 3
kilometers towards East. How far and in which direction is he with reference to his starting point?

Options:
1 # 5 kilometers west

5 « 35 kilometers North-east
= % 7 kilometers East

4 % 7 kilometers West
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A woman introduces a man as the son of brother of her mother. How is the man related to the wommen?
Options:
, % Nephew
~ % Son

« Cousin

=
4 % Uncle

Question Number : 67 Question Id : 279117157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

U AfEAT UF Y F 90T WO A OF H1F F 99 F T # FOAT £ I AEHE A ¥ e v
HETOT 87

Options:

1_@334#!?”

E.RF

_ T aTE

4 % STET

Question Number : 68 Question Id : 279117158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If - means —, —means *, +~ means +and * means —, then 15-3 +10x 5+ 5=7
Options:

1. % 35

o B .
= o 48
EE 52
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Study the given table carefully to answer the question that follow:

Percentage of marks obtained by five students in five
different subjects in a school.

: : : Mathe- | Social | ;. ..
Subject | English | Science miafics | Stadies Hindi

Student| (100) | (125) | (150) | (735) | (30)

Rahul 67 34 70 64 20
Veena 30 72 74 33 34
Soham 06 00 34 30 76
Shreva 71 66 30 66 36
Varun 63 76 38 63 72

Figures in brackets indicate maximum marks for a particular subject.

What are the average marks obtained by all the students togetherin English?

Options:
| ® 64.6

> % 60.4
3 % 66.7
i 652
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Correct: 1 Wrong: 0
The first railway line in India was opened in the year:

Options:



1 % 1833
> o 1853
= % 1857
4 % 1861
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Correct: 1 Wrong: 0
“Vishu’ is the New Year day and a Hindu festival celebrated in the Indian State of:

Options:
1 # Karnataka

-~ % (Goa
5 » lelangana

4 « Kerala
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‘Fugdi’ is a traditional folk dance popular in the Indian State of:
Options:

1« Goa



- % Bihar
= % Odisha

4, = Chhattisgarh

Question Number : 72 Question Id : 279117162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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In which country did the present outbreak of Zika virus start?

Options:
;% USA

> « Brazil
= % Canada
4 % Haiti
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Deepak Lathore is associated with which of the following sports?

Options:
, » Hockey



o  Weightlifting
z % Badminton
4 % Football
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Who is called the ‘Father of Modern Economics’?
Options:

1 « Adam Smith

- % Marshall
5 » Keynes

4 % Robbins
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Question Number : 76 Question Id : 279117166 Question Type: TYPING TEST Display Question Number : Yes

It is easy to pigeonhole the President of India as an office for formal rites, with no substantive role in running
the country. When the office is occupied by as keern a politician as the present incumbent, ritual often gives
way to real intervention. The Republic Day-eve address of the President has served up more than platitudes.
President Pranab Mukherjee has called upon the citizens to complain, demand and rebel, apart from
excoriating terror and calling upon the Opposition and raling sides to reach accormmodation on passing vital
laws that the country rneeds. This is sensible and timely advice delivered at a statesrmanly rermove from the
partisan battlefield that Indian politics has become. The two countries have called for the early conclusion of
the negotiations and adoption of an international legal framework: under UN auspices, the Comprehensive
Convention on International Terrorism. The focus on maritime security in the Indian ©Ocean is another facet of
the effort by the two countries to work together to counter terrorism. France has reiterated its support for a
permanent UM Security Council seat for India, and New Delhi's accession to multilateral export control
regimmes. The President did well to underline the message that dissent is dernocracy. This is a much-needed
corrective to the notion that privileges order and discipline over other aspects of collective existence and
autormatically rules non-acquiescence to authority as treason. By calling upon his citizens to not just complain
but also to rebel, President Mukherjee trashes this view of politics and condemns intolerance of difference.
Pliant conformity, in fact, kills innowvation, without even guaranteeing perpetuation of the status quo, as one
has to run just to keep one's place in a world on the move. Does articulation of this view pit hirm in opposition
to the present government, some of whose supporters have, indeed, been intolerant of any criticism of
intolerance? Mot really. After President Mukherjee spoke up after the killing of a man at Dadri over beef, the
prime rminister thought it fit to use that statement to present his owrl reaction. The President did well to brand
terrorism as pure evil, refusing to differentiate terror into good and bad. He endorsed dialogue as the way to
resolve differences, but not unconditionally. Dialogue should ideally be continual, he said, but cannot take
place under a shower of bullets. This should not, however, make way for the opponents of dialogue to
sabotage it by the simple expedient of spraying bullets whenever peace threatens to brealk out.
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